
warehouse Shared Resource

CADT WarehouseAccessControl
OPERATIONS

ACTION enterWarehouse: N[i ]× N[i ]
ACTION exitWarehouse: N[i ]× N[i ]

SEMANTICS
DOMAIN:
STATE: (weight : Warehouse →Weight × occupied : Warehouse → B)
TYPE: Warehouse = 0 . . . n warehouses - 1

Weight = 0 . . . max weight in warehouse
INITIAL: ∀n ∈Warehouse • weight(n) = 0 ∧ ¬occupied(n)
INVARIANT: ∀n ∈Warehouse • weight(n) ≤ max weight in warehouse

PRE: n ∈ {0 . . .n warehouses− 1} ∧ w ∈ {0 . . .max weight in warehouse− 1}
CPRE: w + weight(n) ≤ max weight in warehouse

enterWarehouse(n,w)

POST: weight = weight in ⊕ {n 7→ weight in(n) + w} ∧
(n > 0⇒ occupied = occupied in ⊕ {n 7→ False}) ∧
(n = 0⇒ occupied = occupied in)

PRE: n ∈ {0 . . .n warehouses− 1} ∧ w ∈ {0 . . .max weight in warehouse− 1}
CPRE: n = n warehouses− 1 ∨ ¬occupied(n + 1)

exitWarehouse(n,w)

POST: weight = weight in ⊕ {n 7→ weight in(n)− w} ∧
(n < n warehouses− 1⇒ occupied = occupied in ⊕ {n + 1 7→ True}) ∧
(n = n warehouses− 1⇒ occupied = occupied in)


